ORDER #005807



MIMI RIEDER

Order Date: November 14, 2024

Due Date: Upon Receipt

PO: Shipping Address: **MOSHE GANZ HALL** 360 N La Brea Ave, Los Angeles, CA 90036

INSTALL: THURSDAY 02/13 TIME TBD

Kanner Hall
7269 Beverly Blvd,
Los Angeles, CA 90036

EVENT DATE: FEBRUARY 14TH, 2025

INSTALL: FRIDAY MORNING

**RETURN: SATURDAY EARLY MORNING

TO FLIP THE ROOM**

PICK UP: SUNDAY TIME TBD

	Qtty	Price		Total
OSHE GANZ HALL				
Stage, 8ft x 8ft x 16" Height FOR DJ	1	\$240.00	Т	\$240.00
Black Carpet Cover, 8ft x 8ft x 16" Height	1	\$200.00	Т	\$200.00
Acrylic Podium	1	\$150.00	Т	\$150.00
Dance Floor - Round - 24' (FULL DECAL WRAP)	1	\$2,880.00	Т	\$2,880.00
Chanel Curved Sofa, Teal PLACED BY THE DANCE FLOOR	4	\$275.00	Т	\$1,100.00
Darzy Coffee Table - Round, Black FOR THE CHANEL CURVED SOFAS	4	\$150.00	T	\$600.00
Stretch Velvet Pipe and Drape - Black, 30ft x 10ft x 10ft x 10ft Height FOR WOMEN'S DANCING AREA	1	\$600.00	T	\$600.00
Mccormick Dining Table, Custom Color Teal V. Leather - 4' X 8'	4	\$450.00	Т	\$1,800.00
	Black Carpet Cover, 8ft x 8ft x 16" Height Acrylic Podium Dance Floor - Round - 24' (FULL DECAL WRAP) Chanel Curved Sofa, Teal PLACED BY THE DANCE FLOOR Darzy Coffee Table - Round, Black FOR THE CHANEL CURVED SOFAS Stretch Velvet Pipe and Drape - Black, 30ft x 10ft x 10ft x 10ft Height FOR WOMEN'S DANCING AREA Mccormick Dining Table, Custom Color Teal V. Leather -	Stage, 8ft x 8ft x 16" Height	Stage, 8ft x 8ft x 16" Height FOR DJ Black Carpet Cover, 8ft x 8ft x 16" Height 1 \$200.00 Acrylic Podium 1 \$150.00 Dance Floor - Round - 24' (FULL DECAL WRAP) 1 \$2,880.00 Chanel Curved Sofa, Teal 4 \$275.00 PLACED BY THE DANCE FLOOR Darzy Coffee Table - Round, Black 4 \$150.00 FOR THE CHANEL CURVED SOFAS Stretch Velvet Pipe and Drape - Black, 30ft x 10ft x 10ft x 1 \$600.00 10ft Height FOR WOMEN'S DANCING AREA Mccormick Dining Table, Custom Color Teal V. Leather - 4 \$450.00	Stage, 8ft x 8ft x 16" Height 1 \$240.00 T

Description		Qtty	Price		Total
	Lacquered Table, Black Base - 4' X 8'	4	\$250.00	T	\$1,000.00
H	Monet Dining Chair, Custom Teal Color SEATING FOR THE LACQUER BLACK TABLES	40	\$24.00	T	\$960.00
Q	Louis Dining Chair, Black (80) SEATING FOR 60" RD TABLES	80	\$14.50	T	\$1,160.00
	Custom Decals (FOR LOUIS DINING CHAIRS)	40	\$12.00	Т	\$480.00
	Banquet Round Low Cocktail Tables, 36"	8	\$10.00	Т	\$80.00
	Los Angeles Bar, Black - 8ft FOR DRINKS	2	\$350.00	T	\$700.00
	Los Angeles Back Bar, Black 6ft FOR DRINKS	2	\$250.00	T	\$500.00
	Los Angeles Bar, Black - 6ft FOR FOOD STATIONS	6	\$275.00	Т	\$1,650.00
	Crystal Chandeliers with Black or Teal Fringe	10	\$150.00	Т	\$1,500.00
	Total THU	HURSDAY @ MOSHE GANZ HALL			\$15,600.00
FRIDAY NIGHT	DINNER (KANNER HALL)				
	Teal Velvet Pipe and Drape, 39ft (FOR BACKROOM) Custom Made Teal Velvet Fabric	1	\$585.00	T	\$585.00
	Mccormick Dining Table, Custom Color Teal V. Leather - 4' X 8' RECYCLED FROM THURSDAY EVENT AT MOSHE GANZ HALL	1	\$0.00	Т	\$0.00
	Custom Teal Lattice Bar, 6ft	2	\$550.00	Т	\$1,100.00
	Custom Decal (FOR LATTICE BAR)	2	\$28.00	Т	\$56.00
	Lattice Arch Back Bar, Custom Color Teal INCLUDES DECAL AND SHELVING	2	\$850.00	T	\$1,700.00
	Chanel Curved Sofa, Teal RECYCLED FROM THURSDAY AT MOSHE GANZ HALL	4	\$0.00	Т	\$0.00
	Vantage Coffee Table	2	\$125.00	T	\$250.00

Description		Qtty	Price		Total
	Monet Dining Chair, Custom Teal Color SEATING FOR OVAL DINING TABLES RECYCLED FROM THURSDAY EVENT AT MOSHE GANZ HALL	32	\$0.00	Т	\$0.00
	Joss Chandelier	6	\$75.00	Т	\$450.00
	Total FRIDAY NIGHT DINNER (KANNER HALL)				
SATURDAY KIE	DDUSH (KANNER HALL)				
Ā Ā	Tulip Serpentine Dining Table, Silver	1	\$875.00	Т	\$875.00
	Teal V. Leather Wrap (Tulip Serpentine Table) PRICES UNDER TULIP SERPENTINE TABLE	1	\$0.00	T	\$0.00
	Lippa Cocktail Table - Gold W. White Marble Top	3	\$125.00	Т	\$375.00
	Custom Decals (FOR COCKTAIL TABLE TOPS)	3	\$28.00	Т	\$84.00
	Risers (FOR (4) ROUND TABLES) TOTAL 12 RISERS	4	\$15.00	T	\$60.00
	Banquet Serpentine Tables (FOR FOOD)	2	\$12.00	Т	\$24.00
	Custom Teal Lattice Bar, 6ft PLACED ON THE CENTER OF THE ROOM	2	\$550.00	Т	\$1,100.00
	Custom Teal Lattice Bar, 8ft PLACED ON THE CENTER OF THE ROOM	4	\$750.00	Т	\$3,000.00
	Custom Decal (FOR LATTICE BAR)	6	\$28.00	Т	\$168.00
	Total SATURE	DAY KIDDUS	ALL)	\$5,686.00	
Services					
	Trucking Fee (Round Trip: Thursday & Friday & Saturday)	3	\$375.00	Т	\$1,125.00
	Installation Fee (Thursday Set Up - Moshe Ganz Hall)	8	\$200.00		\$1,600.00
	Installation Fee (Friday Night Dinner Set Up - Kanner Hall)	4	\$125.00		\$500.00
	Installation Fee (Saturday Kiddush Set Up - Kanner Hall) FLIP THE ROOM	4	\$110.00		\$440.00
	Breakdown Fee (Everything on Sunday - Moshe Ganz & Kanner Hall)	8	\$200.00		\$1,600.00

Notes

Total Products: \$25,757.00

Total Labor/Services/Misc:

\$5,265.00

Taxes: \$2,553.79

Discounts: (\$0.00)

Total: \$33,575.79

Payments: (\$0.00)

Balance: \$33,575.79